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------ coveragef7 461: AN

—————— decisionfT 468: ifiEf]
MsgID > uipMsgNumber

T F
01: *t *f(MsgID > uipMsgNumber) & %

—————— coverage{T 470: PHEUR [liEA)
return (E_OS_ID);
Wi

—————— decisionf7 476: ifiEA]
msgPtr -> uipQueueWriteHead == (uip_UCHAR_PTR)DataRef

T F
01: *t *f(msgPtr -> uipQueueWriteHead == (uip_UCHAR_PTR)DataRef)7& %

—————— coveragefT 479: BEOR [HiEA]
return (uip_COM_BUFFER);
i

—————— decisionf7 483: ifiEf]
(msgPtr -> uipMsgStatus & uip_MSG_LOCKED) != 0

T F
01: *t *f((msgPtr -> uipMsgStatus & uip_MSG_LOCKED) != 0)& %

—————— coveragefT 486: MRER [MliEA)
return (uip_COM_LOCKED);
Wik

—————— decisionf7 500: ifiEA]
msgPtr -> uipMsgType == uip_MSG_UNQUEUED

T F
01: *t *f(msgPtr -> uipMsgType == uip_MSG_UNQUEUED) % %



decisionf7 502: forigfy]
data_size < msgPtr -> uipMsgSize

T
01: *t

F
*f(data_size < msgPtr -> uipMsgSize) 8 &

decisionf7 513: ifiEA]
((msgPtr -> uipMsgStatus) & uip_MSG_OVERFLOW) ==

T
01: *t

F
*f(((msgPtr -> uipMsgStatus) & uip_ MSG_OVERFLOW) == 0)& %

decisionf7 515: forigfy]
data_size < msgPtr -> uipMsgSize

T
01: *t

F
*f(data_size < msgPtr -> uipMsgSize) 8 &

decisionf7 523: ifiEA]
(uip_UCHAR_PTR)(msgPtr -> uipQueueWriteHead) >=
(uip_UCHAR_PTR)(msgPtr -> uipQueueEnd)

T
01: *t

F
*f((uip_UCHAR_PTR)(msgPtr -> uipQueueWriteHead) >=

(uip_UCHAR_PTR)(msgPtr -> uipQueueEnd)) & =%

decisionf7 539: ifiEf]
msgPtr -> uipMsgNotifyType == uip_COM_NOTIFICATION_CALLBACK

T
01: *t

F
*f(msgPtr -> uipMsgNotifyType ==

uip_COM_NOTIFICATION_CALLBACK)Z &%

decisionf7 545: ifiEA]
msgPtr -> uipMsgNotifyType == uip_COM_NOTIFICATION_FLAG

T
01: *t

F
*f(msgPtr -> uipMsgNotifyType == uip_COM_NOTIFICATION_FLAG)% &%

decisionf7 550: ifiEA]
msgPtr -> uipMsgNotifyType == uip_COM_NOTIFICATION_SETEVENT

T
01: *t

F
*f(msgPtr -> uipMsgNotifyType ==

uip_COM_NOTIFICATION_SETEVENT)% %

decisionf7 553: ifiEA]
status |= E_OK

T

F



01: *t *f(status != E_OK)&E %

coveragefT 559: R [HiEA]
return (status);

B

decisionf7 563: ifiEf]
msgPtr -> uipMsgNotifyType == uip_COM_NOTIFICATION_ACTIVATETASK

T F
01: *t f(msgPtr -> uipMsgNotifyType ==

uip_ COM_NOTIFICATION_ACTIVATETASK)#} /)78 5

decisionf7 566: ifiEA]
status |= E_OK

T F
01: *t *f(status != E_OK)& %

coverage{T 572: %R [A1EA]
return (status);

i

coveragef{T 580: pA%R [A]1EA]
return (E_OK);
i

3.2 ¥i%k UIP_ReceiveMessage

StatusType UIP_ReceiveMessage(MsgType MsgID, AppDataRef DataRef)
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coveragefT 642: HH A O



MsgID > uipMsgNumber

T F
01: *t *f(MsgID > uipMsgNumber) & %

______ coveragefT 652: HEOR [HiEA)
return (E_OS_ID);
i

------ decisionf7 658: ifif4]
(uip_UCHAR_PTR)(msgPtr -> uipQueueReadHead) == (uip_UCHAR_PTR)DataRef

T F
01: *t *f((uip_UCHAR_PTR)(msgPtr -> uipQueueReadHead) ==

(uip_UCHAR_PTR)DataRef)7& #%

—————— coveragefT 661: EER [HEA]
return (uip_COM_BUFFER);
i

—————— decisionf7 665: ifiEA]
((msgPtr -> uipMsgStatus) & uip_MSG_LOCKED) != 0

T F
01: *t *f(((msgPtr -> uipMsgStatus) & uip_MSG_LOCKED) != 0)& %

—————— coveragefT 668: PHER [FliEA)
return (uip_COM_LOCKED);
Eis

—————— decisionf7 682: ifiEf]
msgPtr -> uipMsgType == uip_MSG_UNQUEUED

T F
01: *t *f(msgPtr -> uipMsgType == uip_MSG_UNQUEUED) % %

—————— decisionf7 684: forigfy]
data_size < msgPtr -> uipMsgSize

T F
01: *t *f(data_size < msgPtr -> uipMsgSize) 7 %

—————— decisionf7 697: ififf) B & ik R
(((msgPtr -> uipMsgStatus) & uip_MSG_OVERFLOW) == 0) &&

((msgPtr -> uipQueueReadHead) == (msgPtr -> uipQueueWriteHead))

T F
01: *tt *#x((((msgPtr -> uipMsgStatus) & uip_ MSG_OVERFLOW) == 0)) &%
02: *tt *tf(((msgPtr -> uipQueueReadHead) == (msgPtr ->

uipQueueWriteHead))) &%



+ooome- coveragefT 704: MEHR WA
| return (uip_COM_BUFFER_EMPTY);
| i

e decisionf7 707: ifiEA]
| ((msgPtr -> uipMsgStatus) & uip_MSG_OVERFLOW) != 0

|

| T F

| 01: *t *f(((msgPtr -> uipMsgStatus) & uip_ MSG_OVERFLOW) != 0)& #%
|

Fomee decisionf3 714: forigH)

| data_size < msgPtr -> uipMsgSize

|

| T F

| 01: *t *f(data_size < msgPtr -> uipMsgSize) 7 %
|

e decisionf7 722: ifi&A]

| (uip_UCHAR_PTR)(msgPtr -> uipQueueReadHead) >=
(uip_UCHAR_PTR)(msgPtr -> uipQueueEnd)

| T F
| 01: *t *f((uip_UCHAR_PTR)(msgPtr -> uipQueueReadHead) >=
(uip_UCHAR_PTR)(msgPtr -> uipQueueEnd)) & &

S — coveragefT 733: MHUR MliEA]
return (status);

B

—————— 3.3 ¥j% UIP_GetMessageStatus
| StatusType UIP_GetMessageStatus(MsgType MsgID)
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decisionf7 796: ifiEf)
MsgID > uipMsgNumber

T F
01: *t *f(MsgID > uipMsgNumber) &%

coveragefT 798: R [HEA]
return (E_OS_ID);
i

decisionf7 804: ifiEf]
((msgPtr -> uipMsgStatus) & uip_MSG_LOCKED) != 0

T F
01: *t *f(((msgPtr -> uipMsgStatus) & uip_MSG_LOCKED) != 0)& &

coveragefT 807: R [HiEA]
return (uip_COM_LOCKED);
i

decisionf7 810: ifiEA]
msgPtr -> uipMsgType == uip_MSG_QUEUED

T F
01: *t *f(msgPtr -> uipMsgType == uip_MSG_QUEUED)%&E %

decision{T 814: ifiEA] &4k Fik
(((msgPtr -> uipMsgStatus) & uip_MSG_OVERFLOW) == 0) &&

(msgPtr -> uipQueueReadHead == msgPtr -> uipQueueWriteHead)

T F
01: *tt *#x((((msgPtr -> uipMsgStatus) & uip_ MSG_OVERFLOW) == 0)) &%
02: *tt tf((msgPtr -> uipQueueReadHead == msgPtr ->

uipQueueWriteHead))# 4> 8 35

coveragefT 818: ¥R [HiEH)
return (uip_COM_BUFFER_EMPTY);
B

decisionf7 821: ifi&f])
((msgPtr -> uipMsgStatus) & uip_MSG_OVERFLOW) != 0

T F
01: *t f(((msgPtr -> uipMsgStatus) & uip_MSG_OVERFLOW) != 0)#4r B %=

coveragefT 823: H¥UR [HiEH)
return (uip_COM_OVERFLOW);
Wi

coveragefT 827: %R [A1EA]
return (E_OK);



B

—————— 3.4 ¥j%¥ UIP_ReadFlag
| FlagType UIP_ReadFlag(MsgType MsgID)
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S S— coveragefT 881: MR MliEA]
return (value);

Bk

—————— 3.5 ¥j%k UIP_ResetFlag
| StatusType UIP_ResetFlag(MsgType MsgID)
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S S— coveragefT 945: MHHUR MliEA]
return (E_OK);
B

—————— 3.6 p%r UIP_StartCOM
| StatusType UIP_StartCOM(void)
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R coveragef7 998: BN M
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e coveragefT 1004: EEUR [HiEH]
return (returnVal);

B

—————— 3.7 pi% UIP_CloseCOM
| StatusType UIP_CloseCOM(void)
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FRN— coveragefT 1057: BEUR [AliEA)

return (E_OK);
i

3.8 % UIP_StopCOM
StatusType UIP_StopCOM (uip_UCHAR ShutdownMode)
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------ coveragefT 1113: ¥ N
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—————— decisionf7 1117: forigHy]
msgNumber < uipMsgNumber

T F
01: *t *f(msgNumber < uipMsgNumber) 8 &

—————— decisionf7 1121: ifigHy]
((msgPtr -> uipMsgStatus) & (uip_MSG_LOCKED)) != 0

T F
01: *t *f(((msgPtr -> uipMsgStatus) & (uip_MSG_LOCKED)) != 0)2&

—————— coveragefT 1123: KEUR [AiEA]
return (uip_COM_LOCKED);
i

______ coveragefF 1127: ¥R A3
return (E_OK);
i
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4. Y uip_kernel_resource.c HFfLE D:\UIP-Kernel\uipkernel\uipkernel_original\src
BJEEHNE: Mon Jun 24 09:43:13 CST 2013

______ CHHEE (MCDCO): $:24 o %

I F-BHE
w8
A E R 1
R HE #:O0

L0 AR HIE
B/ o
A E R 1
R HE #:O0

O 44332

—————— 4.1 % uipGetResource
| StatusType uipGetResource(ResourceType ReslD)

Fommee HREHEE(MCDC):
| AN E-BRHE

| B oE B4

| EREIEEC: O
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| ANFAFHE

| B oE B4

| EREIEEC: O
| * B #:0

| OS5 %
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+om decisionf7 491: ifi&f]
| uipNestedInterrupts != 0

|

| T F

| 01: *t *f(uipNestedInterrupts != 0)& &
|

+om coveragefT 494: HEOR [HiEHR)
| return (E_OS_CALLEVEL);



| v E

e decisionf7 499: ifiEA]
| ResID >= uipResNumber

|

| T F

| 01: *t *f(ResID >= uipResNumber) 8 %
|

Fommeee coveragefT 502: PRER [FiEA)

| return (E_OS_ID);
| i

e decisionf7 512: ifiEA]
| (resourcePtr -> uipLock) ==

|

| T F

| 01: *t *f((resourcePtr -> uipLock) == 1)@ %
|

Fommeee coveragefT 518: MRER [FiEA)

| return (E_OS_ACCESS);
| ko

e decisionf7 526: ifi&f])
| uipCurrentTaskPriority < (resourcePtr -> uipCeilingPrio)

|

| T F

| 01: *t *f(uipCurrentTaskPriority < (resourcePtr -> uipCeilingPrio)) % 3%
|

Fommeee coveragefT 532: MREUR [FiEA)

| return (E_OS_ACCESS);
| Lk

S — coveragefT 560: MHGR MliEA]
return (E_OK);
b

—————— 4.2 % uipReleaseResource
| StatusType uipReleaseResource(ResourceType ResID)
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647 S
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A #EH #=:0

coveragefT 624: HHE AN

decisionfT 635: ifiEf]
uipNestedInterrupts != 0

T F
01: *t *f(uipNestedInterrupts != 0)7& %

coveragefT 641: AR MiEA)
return (E_OS_CALLEVEL);
i

decisionfT 646: ifiEf]
ResID >= uipResNumber

T F
01: *t *f(ResID >= uipResNumber) & %

coveragefT 649: pR¥OK [F1EA)
return (E_OS_ID);

i
decisionf7 661: ifiEf] F &L FRIER
((resourcePtr -> uipLock) == 0) | | ((taskCurrentPtr -> uipResources) != resourcePtr)
T F
01: *tx *#f(((resourcePtr -> uipLock) == 0)) & &
02: *ft *#f(((taskCurrentPtr -> uipResources) !|= resourcePtr)) 8 &

coverage{T 667: %R FIIEA
return (E_OS_NOFUNC);
i

decisionf7 673: ifiEf]
uipCurrentTaskPriority < (resourcePtr -> uipCeilingPrio)

T F
01: *t *f(uipCurrentTaskPriority < (resourcePtr -> uipCeilingPrio)) 78 &=

coverage{T 679: %R [FIEA]
return (E_OS_ACCESS);
i

decisionf7 696: ifiEH]
uipPrioGrpArray[resourcePtr -> uipResCeilingGrpArraylndex] == 0x00



| | T F

| | 01: *t f(uipPrioGrpArray[resourcePtr -> uipResCeilingGrpArraylndex] ==

OxO0)#k 5 2 it

|

| S coveragefT 713: HHGR BIiEA]
| return (E_OK);

| B

|

R 5. X uip_kernel_task.c H3#{ B D:\UIP-Kernel\uipkernel \uipkernel_original\src
| 5 J5 5 Bt ): Mon Jun 24 09:43:07 CST 2013

| SRR A XXXXXX
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e 5.1 pi% UIP_ActivateTask
| StatusType UIP_ActivateTask(TaskType TaskID)

|

|

| LA PR HMEZ(MCDCO):

| | AN -

| | o s
| | HWaEmEe 1
| | K E %0
| | 64 HIE

| | B 4
| | W EmE 2
| | K E %0
| | O/I‘%’ﬂfl:é}fi

| | b
| | R 7
| | AN E S
| |
| |
| |
|

|

|

i

: 0
: 0

m%gw%
i
[@JN

#
R 7



e decisionfT 475: ifiEa) A5 Kb
(TaskID < uip_TASK_MAX) && (TaskID >= 0)

|

|

| T F
| 01: *“tt *fx((TaskID < uip_TASK_MAX))7E %

| 02: *tt *tf((TaskID >= 0))&H %

|

Fommmee decisionfT 482: ifiEf]

((taskPtr -> uipTaskState) & uip_TASK_STATE_MASK) == SUSPENDED_STATE

T F
01: *t *{(((taskPtr -> uipTaskState) & uip_TASK_STATE_MASK) ==
SUSPENDED_STATE)% %
|
R decisionf7 503: ifiEha) A5 Kb X
(uipNestedInterrupts == 0) && (uipSchedulerLock == 0)

|

|

| T F

| 01: *tt fx((uipNestedInterrupts == 0))%/r EH
| 02: *tt tf((uipSchedulerLock == 0))& /) B %

|

o decisionf3 512: ifi&f]

(taskPtr -> uipActivatedNumber) < ACTIVATED_NUM_MAX

|

|

| T F
| 01: *t *{((taskPtr -> uipActivatedNumber) < ACTIVATED_NUM_MAX) % &%
|

) S— coveragefT 523: PR [MiEh)

| return (E_OS_LIMIT);

| b

S coveragefT 531: HHUR HiEA)
| return (E_OK);
| s

S coveragefT 538: H$& HiEA)
return (E_OS_ID);
i

Fomee 5.2 % UIP_TerminateTask
| StatusType UIP_TerminateTask (VOID)

boeees BB (MCDO):
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coveragefT 601: HA D

decisionfT 607: ifiEf]
uipNestedInterrupts != 0

T F
01: *t *f(uipNestedInterrupts != 0)7& %

coveragefT 610: PREUR MiEh)
return (E_OS_CALLEVEL);
i

decisionfT 613: ifiEf]
uipSchedulerLock != 0

T F
01: *t *f(uipSchedulerLock != 0)7& %

coveragefT 616: PRAEUR [MiEA)
return (uip_SCHEDULER_LOCKED);
i

decisionf7 626: ifi&f]
(taskPtr -> uipResources) != 0

T F
01: *t *{((taskPtr -> uipResources) != 0)7& %

coveragefT 632: PREUR [MiEh)
return (E_OS_RESOURCE);
i

decisionfT 651: ifiEf]
(taskPtr -> uipActivatedNumber) ==

T F
01: *t *{((taskPtr -> uipActivatedNumber) == 0)7& %

decisionfT 668: ifiEf]
(taskPtr -> uipDispatchPrio) != (taskPtr -> uipReadyPrio)



i

T F
01: *t f((taskPtr -> uipDispatchPrio) != (taskPtr -> uipReadyPrio)) i/ &%

—————— decisionf7 673: ifiEf]
uipPrioGrpArray[taskPtr -> uipDispPrioGrpArraylndex] == 0x00

T F
01: *t f(uipPrioGrpArray[taskPtr -> uipDispPrioGrpArraylndex] == 0x00)# /&

5.3 ¥% UIP_ChainTask
StatusType UIP_ChainTask (TaskType TaskID)
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—————— decisionf7 786: ifiEH]
uipNestedInterrupts != 0

T F
01: *t *f(uipNestedInterrupts != 0)B &

—————— coveragefT 789: MR BiEA)
return (E_OS_CALLEVEL);
B

—————— decisionf7 792: ifiEH]
uipSchedulerLock != 0

T F
01: *t *f(uipSchedulerLock != 0)& %

—————— coveragefT 795: HEOR BiEA)
return (uip_SCHEDULER_LOCKED);



B

decisionfT 804: ifif4) Hr &tk Feik =,
(TaskID < uip_TASK_MAX) && (TaskID >= 0)

T F
01: *tt *fx((TaskID < uip_TASK_MAX)) %%
02: *tt *tf((TaskID >= 0)) &%

decisionf7 810: ifiEf]
(taskCurrentPtr -> uipResources) != 0

T F
01: *t *{((taskCurrentPtr -> uipResources) != 0) @

coveragefT 816: MR HiEA)
return (E_OS_RESOURCE);
B

decisionf7 824: ifiEH]
taskPtr != uipCurrentTaskTCBPtr

T F
01: *t *f(taskPtr |= uipCurrentTaskTCBPtr) % 3

decisionf7 827: ifiEH]
((taskPtr -> uipTaskState) & uip_TASK_STATE_MASK) == SUSPENDED_STATE

T F
01: *t *{(((taskPtr -> uipTaskState) & uip_TASK_STATE_MASK) ==

SUSPENDED_STATE)Z %

coveragefT 853: HEUR [HiEA)
return (E_OS_LIMIT);
i

decisionfT 885: ifiEf]
(taskCurrentPtr -> uipDispatchPrio) != (taskCurrentPtr -> uipReadyPrio)

T F
01: *t f((taskCurrentPtr -> uipDispatchPrio) != (taskCurrentPtr ->

uipReadyPrio)) ¥4 & 25

0x00) ¥ 73 B it

decisionf7 890: ifiEH]
uipPrioGrpArray[taskCurrentPtr -> uipDispPrioGrpArraylndex] == 0x00

T F
01: *t f(uipPrioGrpArray[taskCurrentPtr -> uipDispPrioGrpArraylndex] ==

decisionfT 915: ifiEf]



(taskCurrentPtr -> uipActivatedNumber) != O

T F
01: *t f((taskCurrentPtr -> uipActivatedNumber) != O)%/)r B &5

S coveragefT 930: HEGR [MiEA)
return (E_OS_ID);

Bk

—————— 5.4 p{% UIP_GetTaskID
| StatusType UIP_GetTaskID (TaskRefType TaskID)
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o decisionf3 992: ifi&f]
| taskCurrentPtr == uip_NULL

|

| T F

| 01: *t *f(taskCurrentPtr == uip_NULL)Z %
|

) S— coveragefT 1002: HEUR [HiEA]

return (E_OK);
B

—————— 5.5 % UIP_GetTaskState
| StatusType UIP_GetTaskState (TaskType TaskID, TaskStateRefType State)
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—————— decisionfT 1073: ifigf) F £k =5 K
(TaskID < uip_TASK_MAX) && (TaskID >= 0)

T F
01: *tt *fx((TaskID < uip_TASK_MAX))& %
02: *tt *tf((TaskID >= 0))@ %

—————— coveragefy 1084: KGR [BIiEA)
return (E_OK);
#a

—————— coveragefy 1091: KGR BIES)
return (E_OS_ID);
B



